28th March

Foundation 5-a-day
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Solve 4w + 6 = 38

bo = 51
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Apples cost £2.00 per kg
Oranges cost 28p each
Tomatoes cost £2.50 per kg

Dara buys: Jg /
0.5 kg of apples
2 oranges 56y

2 kg of tomatoes .
g xs

Work out the total cost

A4 57

P=4
a=h

Work out the value of 3a + 4p

1574 /L= 3
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Darius and Sahil are playing a game.
Each boy has 3 attempts.

Their scores are:

> Q
Darius: 35, 45, 10 ~1 &' 5
Sahil: 50, 19, 30 Mern > 33

Which boy has the highest mean
score?
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Arrange in order of size.
Start with the largest.




